Using default US units Units.xml

Length Units Validation:

a=1 ft bi=1m
a=1 ft b=3.28084 ft <- unconverted
a=0.000189m1 b=0.000621mi
a=0.000305km b=0.001km
a=0.3048m b=1m
a=3.048dm b=10 dm
a=30.48cm b=100 cm
a=304.8mm b=1000 mm
5 6
a=3.048-10 pum b=1-10 pum
8 9
a=3.048-10 nm b=1-10 nm
11 12
a=3.048"10 pm b=1-10 pm
9 10
a=3.048 10 Angstrom b=1-10 Angstrom
9 10
a=5.759885 10  bohr b=1.889726'10 bohr
a=0.001515furlong b=0.004971 furlong
a=121in b=39.3700791in
a=0.333333yd b=1.093613yd
a=0.179104 Smoot b=0.587613Smoot
Area Units Validation:
2 2
a=1 ft b:=1m
2 2
a=1f¢t b=10.76391 ft
2 2
a=0.092903m b=1m

- =0. acre
2=2.29568410  ° acre p=0.000247acr



-6 b=0.0001 hectare
a=9.29030410  hectare r

Volume Units Validation:

3 3
a=1 ft bi=1m

3 3
a=1 ft b=35.314667ft <- unconverted
a=28.316847L b=1000.000001L

7 9

a=2.831685>10 mL b=1-10" mL
a=7.480519gal b=264.172051gal

Mass Units Validation:

a=11b bi=1 kg

a=11b b=2.2046231b <- unconverted
a=0.453592kg b=1 kg
a=0.000454Mg b=0.001Mg
a=0.000454¢ b=0.001¢t
a=0.0005ton b=0.001102ton
a=453.592379gm b=1000 gm
a=4.535924-105mg b=1-106mg
a=4.535924-108ug b=l-109ug
a=1l6o0z b=35.2739620z
a=0.031081slug b=0.068522slug

Force Unit Validation:

a=11bf b:=1N
a=11bf b=0.2248091bf <- unconverted
a=4.448222N b=1N

-12 -12
a=4.44822210 TN b=1-10 TN



a=4.448222.10° CGN

az4.448222.10° ° My

a=0.004448kN

a=4448.221617mN

a=4.44822210 6 ulN

a=4.448222-10 > dyn

a=0.453592kgf
a=0.000454 tonnef
a=0.0005tonft

a=0.001kip

b=1-10" ° GN

b=1-10 ° My

b=0.001kN

b=1000 mN

6
b=1-10 uN

5
b=1-10  dyn

b=0.101972kgf
b=0.000102 tonnef
b=0.000112 tonf

b=0.000225kip

Pressure Units Validation:

a=1psf
a=1pst

a=47.88026 Pa

a=4.788026 10 ° GPa

a=4.78802610 ° MPa
a=0.04788 kPa
a=0.000473atm

a=0.000479bar
a=0.359131torr

a=0.006944ps1
-6 ’
a=6.94444410 ksi

a=0.001kst

Emergy Units Validation:

b:=1 Pa
b=0.020885psf
b=1 Pa

p=1.10"° GpPa

p=1-10" % MPa

b=0.001kPa
-6
b=9.86923310 atm

p=1-10" ° bar

b=0.007501torr

b=0.000145ps1

b=1.450377-10" | ksi

b=2.088543 10 > ksf

<- unconverted



a=1BTU b=1J

a=778.169262ft 1bf b=0.737562 ft 1bf <- unconverted
a=1055.055853J b=1J
2=1.05505610" ° TJ b=1.10" 22 17
-6 -9
a=1.05505610 GJ b=1-10 GJ
-6
a=0.001055MJ b=1-10 MJ
a=1.055056kJ b=0.001kJ
= mdJ
a=l.055056-106mJ =1000
a=251.995761cal b=0.238846cal
a=0.251996kcal b=0.000239%kcal
10 7
a=1.05505610 erg b=1-10 erg
[Power Units Validation:
a=1 hp b=1W
ft 1bf ft 1bf
a=55OT b=O.737562T <- unconverted
a=745.699872W b=1W
-7 -9
a=7.456999 10 GW b=1-10 GW
-6
a=0.000746MW b=1-10 MW
a=0.7457kw b=0.001 kW
5 b=1000 mWw
a=7.456999 10 mW
8 6
a=7.456999 10 uWw b=1-10 uw
11 9
a=7.456999 10 nw b=1-10 nWw

14 12
a=7.45699910 pw b=1-10 pw



Velocity Units Validation:

=1 Lt b:=1 kph
&= % sec e
ft ft
a=1T b=0.911344T <- unconverted
a=0.592484 knot b=0.539957 knot
a=1.09728 kph b=1 kph
a=0.681818mph b=0.621371mph

[Constants validation:

8 ft
c=9.83571110 -

fe
g=32 .1737—2
s



